Match each grid with 3 inequalities. Complete the grid with the inequalities.

'y A c r'y D Iy
7 I 7 7 7
1
6 1 6 6 6
1
5 i 5 5 5
1
4 : 4 4 4
3 : 3 3 3
2 : Yo 12 2 2
N
1 I - 1 1 1
1 \
1 \
6 -5 —4-3 —2-10[ 1 2 : -7 —6 —5 —4-3 -2 —10|\] 2 -7 6 -5 —4-3 -2 -10[ 1 2 6 7xf|-7-6-5-4-3-2-10 1 2 5 6 T«x
-1 —1— -1 -1
i N
- 1 - S " -
2 i 2 AN 2 2
-3 1 -3 -3 -3
i
=4 1 =4 =4 =4
-5 ! -5 s -5
i
—6 i —6 —6 —6
-7 ! 7 -7 -7
A 3 G 4 H r'y
4 7 7 2 7
,l
6 6 6 7 6
5 5 5 5
4 4 4 4
3 3 3 3
4
2 2 2 - 2
/
1 1 11—t 1
4
=Y 1 2 3 4 7 6 -5 —-4-3 -2 -10] 1 2 —7—64—4—3—2—,1,0 1 2 6 7xl-7-6 -5-4-3-—2-10 1 2 3 5 6 7x
-1 -1 —1 -1
,/
-2 -2 -2 -2
=3 -3 =3 =3
=4 =4 —4 =4
-5 = -5 -5
—6 —6 ’ —6 —6
4
-7 -7 4 -7 A
y> -5 x<—4 x <2 y<x—4
y<x y<O0 y>x x <4

y < 2x

x> —6




o

A 4

7 7 7
6 — 6 6
3 5 5
4 4 4
3 3 3
2 2 2
1 1 14
5 —4-3 —2—ll 1 3 5 6 : 3—2—[‘17 i2 3 5 6 +;—7—6—
2 2

goteachmaths.co.uk
©



